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CS-2537

M.Com. (Semester-II) Examination, 2015

COMMERCE

(managerial Economics)

(MC-203)

Time Allowed : Three Hours ] [ Maximum Marks : 70

(i) For Back Paper/Improvement/Ex-

empted Candidate(s) the maximum marks

will be 100.

Note : Answer five questions in all. Question No.1

carrying 30 marks, is compulsory. At-

tempt one question carrying 10 marks

from each Unit.

kegâue heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØeMve meb.1 efpemekesâ 30

Debkeâ nQ, DeefveJeeÙe& nw~ ØelÙeskeâ FkeâeF& mes Skeâ ØeMve efpemekesâ

10 Debkeâ nw, nue keâerefpeS~

1. Write brief notes on the following: 3×10=30

efvecveefueefKele hej mebef#ehle efšhheefCeÙeeB efueefKeÙes :

(i) Structure of Business

JÙeJemeeÙe keâe mJe™he

P.T.O.



(ii) Scope of Business

JÙeJemeeÙe keâe #es$e

(iii) Meaning and characteristics of Demand

ceebie keâe leelheÙe& SJeb efJeMes<eleeÙeW

(iv) Exceptions to the, ‘Low of Demand’

‘ceebie kesâ efveÙece’ kesâ DeheJeeo

(v) Demand schedule and demand curve

ceebie leeefuekeâe SJeb ceebie Je›eâ

(vi) Kinds of price elasticity of demand

ceebie keâer keâercele ueesÛe kesâ Øekeâej

(vii) Cross elasticity of demand

ceebie keâer heefle ueesÛe

(viii) Explain opportunity cost.

DeJemej ueeiele mecePeeF&Ùes~

(ix) Accounting profit and economic profit

uesKeebkeâve ueeYe SJeb DeeefLe&keâ ueeYe

(x) Functions of profit.

ueeYe kesâ keâeÙe&

Unit-I / FkeâeF&-I

2. Elaborate upon the meaning, nature and scope

of Managerial Economics.

ØeyevOekeâerÙe DeLe&MeeŒe kesâ DeLe& Øeke=âefle SJeb #es$e keâes mecePeeF&Ùes~

CS-2537 CS-2537

(2) (7)

ueeiele (™)

meeOeejCe hebKes 360 240 50

Skeäpeemš hebKes 600 360 30

nerš-keâvJeskeäšj 800 480 20

kegâue Jeeef<e&keâ efmLej ueeiele ™ 1,50,000

efheÚues Je<e& keâe efJe›eâÙe ™ 5,00,000

efvecee&lee Ùen efJeJesÛevee keâj jne nw efkeâ Deheves Glheeo-hebefòeâ

ceW mes nerš-keâvJeskeäšj keâe ØeeflemLeeheve megmeefppele hebKeeW mes

keâj oW, lees Gmekesâ ueeiele Je Glheefòe kesâ DeeBkeâÌ[s efvecveefueefKele

nesies :

kegâue (Jeeef<e&keâ) efmLej ueeiele  ™. 1,50,000

Fme Je<e& keâe efJe›eâÙe Devegceeve ™. 5,20,000

Øeefle FkeâeF& Øeefle FkeâeF& kegâue efJe›eâÙe ceW

Glheeo cetuÙe (™) heefjJele&veMeerue ØeefleMele Yeeie

ueeiele (™)

meeOeejCe hebKes 360 240 50

Skeäpeemš hebKes 600 360 20

megmeefppele hebKes 850 450 30

keäÙee Ùen heefjJele&ve keâjvee ueeYeoeÙekeâ nesiee?



Jemleg-ëe=bKeuee kesâ cetuÙe efveOee&jCe keâer efJeefYeVe veerefleÙeeW keâes meb#eshe

ceW mecePeeFÙes~

9. (a) Explain the use fullness and limitations of

‘Break-even Analysis.

‘mece-efJeÛÚso efJeMues<eCe keâer GheÙeesefielee SJeb meerceeDeeW keâes

mecePeeFÙes~

(b) A fan manufacturer has before it the fol-

lowing cost and output of its firm:

Product Price per Variable cost%Share in

unit Per unit total sales

(Rs.) (Rs.) volume

Ordinary fans 360 240 50

Exhaust fans 600 360 30

Heat convectors 800 480 20

Total fixed cost (annual): Rs. 1,50,000

Likely volume of sales last year:

Rs.5,00,000

The manufacture is considering whether

or not to drop heat convectors from its

(4) (5)

CS-2537 CS-2537 P.T.O.

(c) Fixed cost, variable cost and Sámi-Vari-

able cost.

GoenjCeeW meefnle efvecveefueefKele ceW Yeso yeleeF&Ùes :

(De) Deuhekeâeueerve ueeieleW SJeb oerIe&keâeueerve ueeieleW

(ye) Je=efæMeerue ueeieleW SJeb meerceeble ueeieleW

(me) efmLej ueeieleW, heefjJele&veMeerue ueeieleW SJeb DeLe&-heefjJele&veMeerue

ueeieleW

7. Explain cost output relationship in the long run.

How does the economic view differ from the

accounting view?

oerIe&keâeue ceW ueeiele Glheefòe mecyevOe keâes mecePeeF&Ùes~ Fmekesâ Devleie&le

DeeefLe&keâ Âef„keâesCe SJeb uesKeerÙe Âef„keâesCe ceW keäÙee Devlej nQ?

Unit-IV / FkeâeF&-IV

8. What is meant by ‘product line pricing’? What

are the factors which determine product line

pricing? Briefly explain the alternative policies

of product line pricing.

Jemleg-ëe=bKeuee kesâ cetuÙe efveOee&jCe keâe keäÙee DeLe& nw? keâewve-keâewve mes

keâejkeâ Jemleg ëe=bKeuee kesâ cetuÙe-efveOee&jCe keâes ØeYeeefJele keâjles nQ?



product line and replace it with decorated

fans. How knows that if he takes the de-

cision of dropping heat convectors and

replaces it with decorated fans, his out-

put and cost data would be:

Total fixed cost (annual): Rs. 1,50,000

Likely volume of sales this year:

Rs.5,20,000

Product Price per Variable cost % Share in

uint per uint total sales

Rs. Rs. volume

Ordinary fans 360 240 50

Exhaust fans 600 360 20

Decorated fans 850 450 30

Is this change worth undertaking?

(ye) Skeâ hebKeeW kesâ efvecee&lee kesâ meccegKe Deheveer heâce& kesâ ueeiele Je

Glheefòe kesâ DeeBkeâÌ[s veerÛes efoS nQ:

Glheeo Øeefle FkeâeF& Øeefle FkeâeF& kegâue efJe›eâÙe ceW

cetuÙe (™) heefjJele&veMeerue ØeefleMele Yeeie

(6) (3)
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3. Describe the structure of Business along with

its sub-systems. Why is business organiza-

tion called on open-system?

JÙeJemeeÙe kesâ mJe™he SJeb Gmekesâ Gheleb$eeW keâer JÙeeKÙee keâerefpeÙes~

JÙeJemeeefÙekeâ mebie”ve keâes Keguee leb$e keäÙeeW keâne peelee nQ?

Unit-II / FkeâeF&-II

4. Discuss the factors affecting price elasticity of

demand. Explain income elasticity of demand’.

ceebie keâer cetuÙe ueesÛe keâes ØeYeeefJele keâjves Jeeues keâejkeâeW, keâer

JÙeeKÙee keâerefpeÙes~ ‘ceebie keâer DeeÙe ueesÛe’ keâes mecePeeF&Ùes~

5. Explain ‘Demand Forecasting’. Elaborate upon

the dater Minents of demand forecasting.

‘ceebie hetJee&Yeeme keâes mecePeeFÙes~ ceebie hetJee&Yeeme kesâ efveOee&jkeâ

keâejkeâeW keâer efJemle=le JÙeeKÙee keâerefpeÙes~

Unit-III / FkeâeF&-III

6. Distinguish between the following, giving ex-

amples on each:

(a) Short run costs and long run costs

(b) Incremental cost and Marginal cost


